



OSCILLATION CRITERIA FOR THIRD ORDER NONLINEAR DELAY DIFFERENCE EQUATIONS

R. Arul and K. Alagesan

Department of Mathematics

Kandaswami Kandar's College

Velur 638182, Namakkal Dt.

Tamil Nadu, India

e-mail: rarulkkc@gmail.com

k.alagesan.k@gmail.com

Abstract

In this paper, we discuss the oscillation criteria for third order nonlinear delay difference equation of the form

$$\Delta(a_n(\Delta(b_n(\Delta x_n)^\alpha))^\beta) + q_n f(x_{n-\tau}) = 0, \quad n \in \mathbb{N}_0.$$

An example is given to illustrate the main result.

1. Introduction

In this paper, we are concerned with the oscillation of third order nonlinear delay difference equation of the form

$$\Delta(a_n(\Delta(b_n(\Delta x_n)^\alpha))^\beta) + q_n f(x_{n-\tau}) = 0, \quad n \in \mathbb{N}_0, \quad (1.1)$$

where Δ is the forward difference operator defined by $\Delta x_n = x_{n+1} - x_n$ and

© 2013 Pushpa Publishing House

2010 Mathematics Subject Classification: 39A10.

Keywords and phrases: third order, oscillation, delay difference equations.

Communicated by E. Thandapani

Received July 2, 2013

$\mathbb{N}_0 = \{n_0, n_0 + 1, n_0 + 2, \dots\}$ and n_0 is a nonnegative integer subject to the following conditions:

(C₁) $\{a_n\}$, $\{b_n\}$ and $\{q_n\}$ are positive real sequences;

(C₂) α and β are ratios of odd positive integers;

(C₃) τ is a nonnegative integer;

(C₄) $f : \mathbb{R} \rightarrow \mathbb{R}$ is continuous functions such that $uf(u) > 0$ for $u \neq 0$ and $-f(-uv) \geq f(uv) \geq f(u)f(v)$ for $uv > 0$.

By a solution of equation (1.1), we mean a real sequence $\{x_n\}$ and satisfying equation (1.1) for all $n \in \mathbb{N}_0$. We consider only that solution $\{x_n\}$ of equation (1.1) which satisfies $\sup\{|x_n| : n \geq N\} > 0$ for all $n \in \mathbb{N}_0$. A solution of equation (1.1) is said to be *oscillatory* if it is neither eventually positive nor eventually negative and nonoscillatory otherwise.

In recent years, there is a great interest in studying the oscillatory behavior of third order nonlinear delay difference equations, see for example [1-5, 7-9, 11, 12] and the references cited therein. Motivated by this observation, in this paper, we obtain some sufficient conditions for the oscillation of all solutions of equation (1.1).

In Section 2, we establish some sufficient conditions for the oscillation of all solutions of equation (1.1) and an example is given to illustrate the main result. The result established in this paper is discrete analogue of that in [6].

2. Main Results

In this section, we establish some new oscillation theorem for equation (1.1). Throughout this paper, we use the following notation without further mention:

$$\delta_{n, n_0} = \sum_{s=n_0}^{n-1} b_s^{-1/\alpha},$$

$$\delta_n = \sum_{s=n_0}^n a_s^{-1/\beta}$$

and

$$\bar{\delta}_n = \sum_{s=n_0}^n b_s^{-1/\beta}.$$

We begin with the following lemma:

Lemma 2.1. *Assume that for all sufficiently large $N_1 \in \mathbb{N}_0$, there is a $N > N_1$ such that $n - \tau > N_1$ for $n \geq N$ and*

(H_1) either

$$\sum_{s=n_0}^{\infty} \frac{1}{a_s^{1/\beta}} = \infty \quad (2.1)$$

or

$$\sum_{n=N}^{\infty} a_n^{-1/\beta} \left[\sum_{s=N}^n q_s f(\delta_{s-\tau}^{1/\alpha}) f(\delta_{s-\tau, N}) \right]^{1/\beta} = \infty; \quad (2.2)$$

(H_2) either

$$\sum_{s=n_0}^{\infty} \frac{1}{b_s^{1/\alpha}} = \infty \quad (2.3)$$

or

$$\sum_{n=n_0}^{\infty} b_n^{-1/\alpha} \left[\sum_{s=n_0}^n a_s^{-1/\beta} \left[\sum_{t=s_0}^s q_t f(\bar{\delta}_{s-\tau}) \right]^{1/\beta} \right]^{1/\alpha} = \infty \quad (2.4)$$

hold. Let $\{x_n\}$ be an eventually positive solution of equation (1.1). Then one of the following two cases holds:

(i) $\Delta x_n > 0$, $\Delta(b_n(\Delta x_n)^\alpha) > 0$ for all $n \geq N$;

(ii) $\Delta x_n < 0$, $\Delta(b_n(\Delta x_n)^\alpha) > 0$ for all $n \geq N$.

Proof. Let $\{x_n\}$ be a positive solution, from equation (1.1), we have

$$\Delta(a_n(\Delta(b_n(\Delta x_n)^\alpha))^\beta) = -q_n f(x_{n-\tau}) < 0 \text{ for } n \geq n_1.$$

Consequently, $(\Delta(b_n(\Delta x_n)^\alpha))^\beta$ is strictly decreasing and then Δx_n and $\Delta(b_n(\Delta x_n)^\alpha)$ are eventually of one sign. We claim that $\Delta(b_n(\Delta x_n)^\alpha) > 0$. If not, then we have two cases:

Case (i). There exists $n_2 \geq n_1$, sufficiently large such that

$$\Delta x_n > 0, \text{ and } \Delta(b_n(\Delta x_n)^\alpha) < 0 \text{ for } n \geq n_2.$$

Case (ii). There exists $n_2 \geq n_1$, sufficiently large such that

$$\Delta x_n < 0, \text{ and } \Delta(b_n(\Delta x_n)^\alpha) < 0 \text{ for } n \geq n_2.$$

For Case (i), we have $b_n(\Delta x_n)^\alpha$ is strictly decreasing and there exists a negative constant M such that

$$a_n(\Delta(b_n(\Delta x_n)^\alpha))^\beta < M \text{ for all } n \geq n_2$$

or

$$\Delta(b_n(\Delta x_n)^\alpha) < \frac{M^{1/\beta}}{a_n^{1/\beta}}.$$

Summing from n_2 to $n-1$, we get

$$b_n(\Delta x_n)^\alpha \leq b_{n_2}(\Delta x_{n_2})^\alpha + M^{1/\beta} \sum_{s=n_2}^{n-1} \frac{1}{a_s^{1/\beta}}.$$

Letting $n \rightarrow \infty$ and using (2.1) then $b_n(\Delta x_n)^\alpha \rightarrow -\infty$, which contradicts

that $\Delta x_n > 0$. Hence (2.2) is satisfied, we have

$$\begin{aligned} x_n - x_{n_3} &= \sum_{s=n_3}^{n-1} \Delta x_s \\ &= \sum_{s=n_3}^{n-1} b_s^{-1/\alpha} ((\Delta x_s)^\alpha)^{1/\alpha} b_s^{1/\alpha} \\ &\geq (b_n (\Delta x_n)^\alpha)^{1/\alpha} \sum_{s=n_3}^{n-1} b_s^{-1/\alpha} \text{ for all } n \geq n_3 \end{aligned}$$

and hence

$$\begin{aligned} x_n &\geq (b_n (\Delta x_n)^\alpha)^{1/\alpha} \sum_{s=n_3}^{n-1} b_s^{-1/\alpha} \text{ for all } n \geq n_3 \\ &\geq (b_n (\Delta x_n)^\alpha)^{1/\alpha} \delta_{n, n_3} \text{ for all } n \geq n_3. \end{aligned}$$

There exists a $n_4 \geq n_3$ with $n - \tau \geq n_3$ for all $n \geq n_4$ such that

$$x_{n-\tau} \geq (b_{n-\tau} (\Delta x_{n-\tau})^\alpha)^{1/\alpha} \delta_{n-\tau, n_3} \text{ for all } n \geq n_4.$$

From equation (1.1),

$$0 \geq \Delta(a_n (\Delta y_n)^\beta) + q_n f(y_{n-\tau}^{1/\alpha}) f(\delta_{n-\tau, n_3}) \text{ for all } n \geq n_4, \quad (2.5)$$

where $y_n = b_n (\Delta x_n)^\alpha$. It is clear that $y_n > 0$ and $\Delta y_n < 0$. It follows that

$$\Delta(a_n (\Delta y_n)^\beta) \leq 0 \text{ for } n \geq n_4.$$

Summing from $n - 1$ to n_4 , we get

$$a_n (\Delta y_n)^\beta - a_{n_4} (\Delta y_{n_4})^\beta \leq 0$$

or

$$-a_n (\Delta y_n)^\beta \geq -a_{n_4} (\Delta y_{n_4})^\beta$$

or

$$\Delta y_n \geq \frac{-a_{n_4}^{1/\beta}(\Delta y_{n_4})}{a_n^{1/\beta}} \text{ for all } n \geq n_4.$$

Summing the last inequality from n to ∞ , we obtain

$$-[y_\infty - y_n] \geq -\sum_{s=n}^{\infty} \frac{a_{s_4}^{1/\beta}(\Delta y_{s_4})}{a_s^{1/\beta}}$$

or

$$y_n \geq -a_{n_4}^{1/\beta}(\Delta y_{n_4}) \sum_{s=n}^{\infty} a_s^{-1/\beta}$$

hence

$$y_n \geq -a_{n_4}^{1/\beta}(\Delta y_{n_4}) \delta_n$$

or

$$y_n \geq k_1 \delta_n \text{ for all } n \geq n_5,$$

where $k_1 = -a_{n_4}^{1/\beta}(\Delta y_{n_4}) > 0$. There exists a $n_5 \geq n_4$ with $n - \tau \geq n_4$ for all $n \geq n_5$ such that

$$y_{n-\tau} \geq k_1 \delta_{n-\tau} \text{ for all } n \geq n_5.$$

Summing (2.5) from n_5 to $n-1$ and using the above inequality, we get

$$\sum_{s=n_5}^{n-1} q_s f(y_{n-\tau}^{1/\alpha}) f(\delta_{n-\tau, n_3}) \leq a_{n_5} \Delta(y_{n_5})^\beta - a_n \Delta(y_n)^\beta$$

or

$$\sum_{s=n_5}^{n-1} q_s f(k_1^{1/\alpha} \delta_{n-\tau}^{1/\alpha}) f(\delta_{n-\tau, n_3}) \leq -a_n \Delta(y_n)^\beta.$$

Now using condition (C_4) , we have

$$\sum_{s=n_5}^{n-1} q_s f(k_1^{1/\alpha}) f(\delta_{n-\tau}^{1/\alpha}) f(\delta_{n-\tau, n_3}) \leq -a_n \Delta(y_n)^\beta$$

or

$$\left[\frac{f(k_1^{1/\alpha})}{a_n} \sum_{s=n_5}^{n-1} q_s f(\delta_{n-\tau}^{1/\alpha}) f(\delta_{n-\tau, n_3}) \right]^{1/\beta} \leq -\Delta(y_n).$$

Summing the above inequality from n_5 to ∞ , we get

$$(f(k_1^{1/\alpha}))^{1/\beta} \sum_{s=n_5}^{\infty} \frac{1}{a_s^{1/\beta}} \left[\sum_{t=s_5}^{s-1} q_t f(\delta_{t-\tau}^{1/\alpha}) f(\delta_{t-\tau, t_3}) \right]^{1/\beta} \leq y_{n_5} < \infty$$

which contradicts the condition (2.2).

For Case (ii), we have

$$b_n (\Delta x_n)^\alpha \leq b_{n_2} (\Delta x_{n_2})^\alpha = c < 0$$

or

$$\Delta x_n \leq \frac{c^{1/\alpha}}{b_n^{1/\alpha}}.$$

Summing the last inequality from n_2 to $n-1$, we get

$$x_n \leq x_{n_2} + c^{1/\alpha} \sum_{s=n_2}^{n-1} b_s^{-1/\alpha}.$$

Letting $n \rightarrow \infty$, then (2.3) yields $x_n \rightarrow -\infty$. This contradicts that $x_n > 0$.

Otherwise, if (2.4) is satisfied. One can choose $n_3 \geq n_2$ with $n - \tau \geq n_2$ for all $n \geq n_3$ such that

$$x_n \geq -(b_n (\Delta x_n)^\alpha)^{1/\alpha} \sum_{s=n_3}^{n-1} b_s^{-1/\alpha}$$

or

$$x_{n-\tau} \geq -(b_{n-\tau}(\Delta x_{n-\tau})^\alpha)^{1/\alpha} \sum_{s=n_3}^{n-\tau-1} b_s^{-1/\alpha}$$

hence

$$x_{n-\tau} \geq k_2 \bar{\delta}_{n-\tau} \text{ for } n \geq n_3,$$

where $k_2 = -(b_{n-\tau}(\Delta x_{n-\tau})^\alpha)^{1/\alpha}$. Then equation (1.1) and (C_4) yield

$$\begin{aligned} \Delta(a_n(\Delta(b_n(\Delta x_n)^\alpha))^\beta) &= -q_n f(x_{n-\tau}) \\ &\leq -q_n f(k_2 \bar{\delta}_{n-\tau}) \\ &\leq -q_n f(k_2) f(\bar{\delta}_{n-\tau}) \end{aligned}$$

or

$$\Delta(a_n(\Delta(b_n(\Delta x_n)^\alpha))^\beta) \leq q_n L f(\bar{\delta}_{n-\tau}),$$

where $L = -f(k_2)$, summing the above inequality from n_3 to $n-1$, we get

$$a_n(\Delta(b_n(\Delta x_n)^\alpha))^\beta \leq L \sum_{s=n_3}^{n-1} q_s f(\bar{\delta}_{s-\tau})$$

or

$$\Delta(b_n(\Delta x_n)^\alpha) \leq \frac{L^{1/\beta}}{a_n^{1/\beta}} \left[\sum_{s=n_3}^{n-1} q_s f(\bar{\delta}_{s-\tau}) \right]^{1/\beta}.$$

Summing the last inequality from n_3 to $n-1$, we have

$$b_n(\Delta x_n)^\alpha \leq L^{1/\beta} \sum_{s=n_3}^{n-1} a_n^{-1/\beta} \left[\sum_{t=s_3}^{s-1} q_t f(\bar{\delta}_{t-\tau}) \right]^{1/\beta}$$

or

$$\Delta x_n \leq \frac{L^{1/\alpha\beta}}{b_n^{1/\alpha}} \left[\sum_{s=n_3}^{n-1} a_n^{-1/\beta} \left[\sum_{t=s_3}^{s-1} q_t f(\bar{\delta}_{t-\tau}) \right]^{1/\beta} \right]^{1/\alpha}.$$

Again summing the last inequality from n_3 to $n-1$, we have

$$x_n \leq L^{1/\alpha\beta} \sum_{s=n_3}^{n-1} b_s^{-1/\alpha} \left[\sum_{t=s_3}^{s-1} a_t^{-1/\beta} \left[\sum_{j=t_3}^{t-1} q_j f(\bar{\delta}_{j-\tau}) \right]^{1/\beta} \right]^{1/\alpha}.$$

From condition (2.4), we get $x_n \rightarrow -\infty$ as $n \rightarrow \infty$ which contradicts that x_n is a positive solution of (1.1). Then we have $\Delta(b_n(\Delta x_n)^\alpha) > 0$ for $n \geq n_1$ and of one sign thus either $\Delta x_n > 0$ or $\Delta x_n < 0$. The proof is now complete. \square

Lemma 2.2. Assume that (H_1) and (H_2) hold. Let $\{x_n\}$ be an eventually positive solution of equation (1.1) for all $n \in \mathbb{N}_0$ and suppose that Case (ii) of Lemma 2.1 holds. If

$$\sum_{n=n_0}^{\infty} b_n^{-1/\alpha} \left[\sum_{s=n}^{\infty} a_n^{-1/\beta} \left(\sum_{t=s}^{\infty} q_t \right)^{1/\beta} \right]^{1/\alpha} = \infty, \quad (2.6)$$

then $\lim_{n \rightarrow \infty} x_n = 0$.

Proof. Let $\{x_n\}$ be a positive solution of equation (1.1). Then there exists $\ell \geq 0$ such that $\lim_{n \rightarrow \infty} x_n = \ell$. Assume $\ell > 0$, then we have $x_{n-\tau} \geq \ell$ for $n \geq n_2 \geq n_1$. Summing equation (1.1) from n to ∞ , we have

$$a_n(\Delta(b_n(\Delta x_n)^\alpha))^\beta \geq \sum_{s=n}^{\infty} q_s f(x_{s-\tau}) \geq f(x_{n-\tau}) \sum_{s=n}^{\infty} q_s$$

or

$$\Delta(b_n(\Delta x_n)^\alpha) \geq \left(\frac{f(\ell)}{a_n}\right)^{1/\beta} \left(\sum_{s=n}^{\infty} q_s\right)^{1/\beta}.$$

Summing the last inequality from n to ∞ , we have

$$-b_n(\Delta x_n)^\alpha \geq (f(\ell))^{1/\beta} \sum_{s=n}^{\infty} a_s^{-1/\beta} \left(\sum_{t=s}^{\infty} q_t\right)^{1/\beta}$$

or

$$-\Delta x_n \geq \frac{(f(\ell))^{1/\alpha\beta}}{b_n^{1/\alpha}} \left[\sum_{s=n}^{\infty} a_s^{-1/\beta} \left(\sum_{t=s}^{\infty} q_t\right)^{1/\beta} \right]^{1/\alpha}.$$

Again summing the last inequality from n_2 to ∞ , we get

$$x_{n_2} \geq (f(\ell))^{1/\alpha\beta} \sum_{n=n_2}^{\infty} b_n^{-1/\alpha} \left[\sum_{s=n}^{\infty} a_s^{-1/\beta} \left(\sum_{t=s}^{\infty} q_t\right)^{1/\beta} \right]^{1/\alpha}.$$

This contradicts to the condition (2.6). The proof is complete. \square

Theorem 2.1. *Let (H_1) and (H_2) hold and there exists an integer σ such that*

$$\sigma > \tau. \quad (2.7)$$

If both first order delay equations

$$\Delta y_n + q_n f(y_{n-\tau}^{1/\alpha\beta}) f\left(\sum_{s=n_2}^{n-\tau-1} b_s^{-1/\alpha} \left(\sum_{t=n_2}^s a_t^{-1/\beta}\right)^{1/\alpha}\right) = 0 \quad (2.8)$$

and

$$\Delta x_n + (f(x_{n+2\sigma-\tau}))^{1/\alpha\beta} b_n^{-1/\alpha} \left[\sum_{s=n}^{n+\sigma} a_s^{-1/\beta} \left[\sum_{t=s}^{s+\sigma} q_t \right]^{-1/\beta} \right]^{1/\alpha} = 0 \quad (2.9)$$

are oscillatory, then equation (1.1) is oscillatory.

Proof. Assume that equation (1.1) has a nonoscillatory solution. Without loss of generality, there is a $n_1 \geq n_0$ sufficiently large such that $x_n > 0$ and $x_{n-\tau} > 0$ for all $n \geq n_1$. From equation (1.1), we have

$$\Delta(a_n(\Delta(b_n(\Delta x_n)^\alpha))^\beta) = -q_n f(x_{n-\tau}) < 0 \text{ for all } n \geq n_1.$$

Thus, $a_n \Delta(b_n(\Delta x_n)^\alpha)$ is strictly decreasing, then $\Delta(b_n(\Delta x_n)^\alpha)$ and Δx_n are eventually of one sign. Then from Lemma 2.1, we have the following cases for sufficiently large $n_2 \geq n_1$:

$$(i) \Delta x_n > 0, \Delta(b_n(\Delta x_n)^\alpha) > 0,$$

$$(ii) \Delta x_n < 0, \Delta(b_n(\Delta x_n)^\alpha) > 0.$$

Case (i). Let $a_n(\Delta(b_n(\Delta x_n)^\alpha))^\beta = y_n$. Then we have

$$\Delta(b_n(\Delta x_n)^\alpha) = \frac{y_n^{1/\beta}}{a_n^{1/\beta}}.$$

Summing the last inequality from n_2 to $n-1$, we have

$$b_n(\Delta x_n)^\alpha = b_{n_2}(\Delta x_{n_2})^\alpha + \sum_{s=n_2}^{n-1} a_s^{-1/\beta} y_s^{1/\beta} \geq y_s^{1/\beta} \sum_{s=n_2}^{n-1} a_s^{-1/\beta}$$

or

$$\Delta x_n \geq y_n^{1/\alpha\beta} \frac{1}{b_n^{1/\alpha}} \left(\sum_{s=n_2}^{n-1} a_s^{-1/\beta} \right)^{1/\alpha}.$$

Summing the last inequality from n_2 to $n-1$, we get

$$\begin{aligned} x_n &\geq x_{n_2} + \sum_{s=n_2}^{n-1} y_s^{1/\alpha\beta} b_s^{-1/\alpha} \left(\sum_{t=n_2}^{s-1} a_t^{-1/\beta} \right)^{1/\alpha} \\ &\geq y_n^{1/\alpha\beta} \sum_{s=n_2}^{n-1} b_s^{-1/\alpha} \left(\sum_{t=n_2}^{s-1} a_t^{-1/\beta} \right)^{1/\alpha}. \end{aligned}$$

There exists $n_3 \geq n_2$ such that $n - \tau \geq n_3$ for all $n \geq n_3$. Then

$$x_{n-\tau} \geq y_{n-\tau}^{1/\alpha\beta} \sum_{s=n_2}^{n-\tau-1} b_s^{-1/\alpha} \left(\sum_{t=n_2}^{s-1} a_t^{-1/\beta} \right)^{1/\alpha} \text{ for all } n \geq n_3.$$

This and equation (1.1), (C_4) yield for all $n \geq n_3$,

$$-\Delta y_n = q_n f(x_{n-\tau}) \geq q_n f(y_{n-\tau}^{1/\alpha\beta}) f \left(\sum_{s=n_2}^{n-\tau-1} b_s^{1/\alpha} \left(\sum_{t=n_2}^{s-1} a_t^{-1/\beta} \right)^{1/\alpha} \right).$$

Summing the last inequality from n to ∞ , we get

$$y_n \geq \sum_{s=n}^{\infty} q_s f(y_{s-\tau}^{1/\alpha\beta}) f \left(\sum_{t=n_2}^{s-\tau-1} b_t^{1/\alpha} \left(\sum_{j=n_2}^{t-1} a_j^{-1/\beta} \right)^{1/\alpha} \right).$$

The function y_n is strictly decreasing, and by Theorem 6.19.3 [1], there exists a positive solution of equation (2.8) which tends to zero this contradicts that equation (2.8) is oscillatory.

Case (ii). Summing equation (1.1) from n to $n + \sigma$, we have

$$a_n (\Delta(b_n (\Delta x_n)^\alpha))^\beta \geq \sum_{s=n}^{n+\sigma} q_s f(x_{s-\tau})$$

or

$$\Delta(b_n (\Delta x_n)^\alpha) \geq \left(\frac{f(x_{n+\sigma-\tau})}{a_n} \right)^{1/\beta} \left(\sum_{s=n}^{n+\sigma} q_s \right)^{1/\beta}.$$

Summing the above inequality from n to $n + \sigma$, we obtain

$$-b_n (\Delta x_n)^\alpha \geq \sum_{s=n}^{n+\sigma} \left(\frac{f(x_{s+\sigma-\tau})}{a_s} \right)^{1/\beta} \left(\sum_{t=s}^{s+\sigma} q_t \right)^{1/\beta}$$

or

$$-(\Delta x_n)^\alpha \geq \frac{(f(x_{n+2\sigma-\tau}))^{1/\beta}}{b_n} \sum_{s=n}^{n+\sigma} a_s^{-1/\beta} \left(\sum_{t=s}^{s+\sigma} q_t \right)^{1/\beta}$$

or

$$-\Delta x_n \geq \frac{(f(x_{n+2\sigma-\tau}))^{1/\alpha\beta}}{b_n^{1/\alpha}} \left[\sum_{s=n}^{n+\sigma} a_s^{-1/\beta} \left(\sum_{t=s}^{s+\sigma} q_t \right)^{1/\beta} \right]^{1/\alpha}.$$

Summing the last inequality from n to ∞ , we get

$$x_n \geq (f(x_{n+2\sigma-\tau}))^{1/\alpha\beta} \sum_{s=n}^{\infty} b_s^{-1/\alpha} \left[\sum_{t=s}^{s+\sigma} a_t^{-1/\beta} \left(\sum_{j=t}^{t+\sigma} q_j \right)^{1/\beta} \right]^{1/\alpha}.$$

Since by Lemmas 2.1 and 2.2, there exists a positive solution of equation (2.9) which tends to zero this contradicts that equation (2.9) is oscillatory. The proof is complete. \square

Theorem 2.2. Let (H_1) , (H_2) and (2.6) hold. Assume that the first order delay equation (2.8) is oscillatory, then every solution $\{x_n\}$ of equation (1.1) is either oscillatory or tends to zero as $n \rightarrow \infty$.

Proof. The proof follows from Case (i) of Theorem 2.1 and Lemma 2.2 and hence the details are omitted. \square

We conclude this paper with the following example.

Example 2.1. Consider the difference equations

$$\Delta \left(n \left(\Delta \left(\frac{1}{n^2} (\Delta x_n)^{1/3} \right) \right)^3 \right) + \frac{1}{n} x_{n-2} = 0, \quad n \geq 1. \quad (2.10)$$

Here $f(u) = u$, $q_n = \frac{1}{n}$, $a_n = n$, $b_n = \frac{1}{n^2}$, $\tau = 2$, $\alpha = \frac{1}{3}$ and $\beta = 3$.

Further $\sum_{n=1}^{\infty} \frac{1}{n^{1/3}} = \infty$, $\sum_{n=1}^{\infty} n^6 = \infty$. It is easy to see that condition (2.6)

holds. Further equation (2.8) reduces to

$$\Delta y_n + \frac{1}{n} \sum_{s=1}^{n-3} n^6 \left(\sum_{t=1}^s \frac{1}{t^{1/3}} \right)^3 y_{n-2} = 0. \quad (2.11)$$

Then by Theorem 7.5.1 [10], equation (2.11) is oscillatory, since

$$\liminf_{n \rightarrow \infty} \sum_{s=n-2}^{n-1} \frac{1}{s} \left(\sum_{t=1}^{s-1} t^6 \left(\sum_{j=1}^t \frac{1}{j^{1/3}} \right)^3 \right) = \infty > \left(\frac{2}{3} \right)^3.$$

Hence by Theorem 2.2, every nonoscillatory solution of equation (2.10) tends to zero as $n \rightarrow \infty$.

References

- [1] R. P. Agarwal, Difference Equations and Inequalities, 2nd ed., Marcel Dekker, New York, 2000.
- [2] R. P. Agarwal, M. Bohner, S. R. Grace and D. O'Regan, Discrete Oscillation Theory, Hindawi Publ. Corp., New York, 2005.
- [3] R. P. Agarwal, S. R. Grace and D. O'Regan, On the oscillation of certain third order difference equations, Adv. Diff. Eqns. 3 (2005), 345-367.
- [4] R. P. Agarwal, S. R. Grace and P. J. Y. Wong, On the oscillation of third order nonlinear difference equations, J. Appl. Math. Comput. 32 (2010), 189-203.
- [5] M. F. Aktas, A. Tiryaki and Z. Zafer, Oscillation of third order nonlinear delay difference equations, Turkish J. Math. 36 (2012), 422-436.
- [6] E. M. Elabbasy, T. S. Hassan and B. M. Elmatary, Oscillation criteria for third order delay nonlinear differential equations, Electron. J. Qual. Theory Differ. Equ. 5 (2012), 1-11.
- [7] S. R. Grace, R. P. Agarwal and M. F. Aktas, Oscillation criteria for third order nonlinear difference equations, Fasc. Math. (2009), 39-51.
- [8] S. R. Grace, R. P. Agarwal and J. R. Graef, Oscillation criteria for certain third order nonlinear difference equations, Appl. Anal. Discrete Math. 3 (2009), 27-38.

- [9] J. R. Graef and E. Thandapani, Oscillatory and asymptotic behavior of solutions of third order delay difference equations, Funkcial. Ekvac. 42 (1999), 355-369.
- [10] I. Gyori and G. Ladas, Oscillation Theory of Delay Differential Equations with Applications, Clarendon Press, Oxford, 1991.
- [11] S. H. Saker, J. O. Alzabut and A. Mukheime, On the oscillatory behavior for a certain third order nonlinear delay difference equations, Electron. J. Qual. Theory Differ. Equ. 67 (2010), 1-16.
- [12] E. Thandapani and K. Mahalingam, Oscillatory properties of third order neutral delay difference equations, Demonstration Math. 35(2) (2002), 325-337.